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Note: This paper is of Forty (40) marks divided 

	into Two (02) sections A and B. Attempt the 

question contained in these sections according 

to the detailed  instructions given therein.

uksV%	 ;g iz'u i=k pkyhl (40) vadksa dk gSA tks nks (02) [k.Mksa 

d rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn, x, 

foLr`r funsZ'kksa ds vuqlkj gh iz'uksa dks gy dhft,A

Section-A/[k.M&^d*

	 (Long Answer type Questions/nh?kZ mÙkjh; iz'u)

Note: Section-'A' contains Five (05) long answer  

type questions of Ten (10) marks each. Learners 

are required to answer any two (02) questions  

only.		  (2×10=20)



2S-62/BSCPH-303

uksV%	[k.M&^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn, x, 
gSa] izR;sd iz'u ds fy, nl (10) vad fu/kZfjr gSaA 
f'k{kkfFkZ;ksa dks buesa ls dsoy nks (02) iz'uksa ds mÙkj 
nsus gSaA

1.	 State and explain Norton's theorem. How is 

it used in an electrical network? Show that 

Norton's equivalent circuit can be found from 

the Thevenin's equivalent circuit.

	 ukVZu ds usVodZ izes; dks fyf[k, ,oa le>kb, fdlh 
fo|qr usVodZ esa ;g dSls mi;ksxh gS\ fn[kkb, dh ukVZu 
dk rqY; ifjiFk FkSofuu ds rqY; ifjiFk ls izkIr fd;k 
tk ldrk gS\

2.	 Draw circuit diagram of PNP transistor in the 

common base arrangement. Draw the output 

characteristic curves and write its important 

features. Explain active region, saturation region 

and cut-off region.

	 ,d PNP VªkaftLVj ds mHk;fu"B vk/kj foU;kl esa 
ifjiFk vkjs[k nhft,\ bldk fuxZr vfHky{kf.kd oØ 
[khafp, vkSj blds egRoiw.kZ xq.kksaa dks fyf[k,\ lfØ; 
{ks=k] lar`Ir {ks=k rFkk dV vkiQ {ks=k le>kb,A
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3.	 Discuss the  construction and working of a full wave 

rectifier. Give mathematical steps to calculate its 

efficiency.

	 iw.kZ rjax fn"Vdkjh dh lajpuk o dk;Zfof/ le>kb,A 

xf.krh; pj.k }kjk bldh n{krk dh x.kuk dhft,A

4.	 Discuss the theorem and postulates of Boolean 

algebra. How it differs from ordinary algebra.

	 cwyu chtkofy dh izes; rFkk vfHkxzfgr dks le>kb,\ 

;g lk/kj.k chtkofy ls dSls fHkUu gS\

5.	 Explain the operation of a transistorized Wein-

bridge oscillator with the help of circuit diagram. 

How is amplitude stability achieved in this 

circuit?

	 ifjiFk fp=k dh lgk;rk ls ohufczt nksfy=k dk lapkyu 

le>kb,\ vk;ke fLFkfrdj.k blesa dSls izkIr fd;k 

tkrk gS\
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Section-B/[k.M&[k

	 (Short answer type questions/ y?kq mÙkjh; iz'u)

Note: Section-B Contains Eight (08) short Answer 

type questions of Five (05) marks each. Learners 

are required to Answer any four (04) questions 

only.		  (4×5=20)

uksV% [k.M&^[k* esa vkB (08) y?kq mÙkjh; iz'u fn, x, 

gSa] izR;sd iz'u ds fy, ik¡p (05) vad fu/kZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj 

nsus gSaA	

1.	 Explain the operation of a regulated power 

supply with suitable circuit diagram.

	 mfpr ifjiFk vkjs[k dh lgk;rk ls fofu;fer fctyh 

vkiwfrZ dk lapkyu le>kb,A

2.	 What are hexadecimal numbers? Explain the 

conversion of decimal to hexadecimal.

	 "kksM'kk/kjh uacj D;k gS\ n'keyo ls "kksM'kk/kjh i¼fr 

esa ifjorZu dks le>kb,A
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3.	 An amplifier has voltage gain of 50. If the gain is 

reduced to 10 by a negative feedback, determine 

the percentage of output which is feedback.

	 ,d izo¼Zd dk oksYVst ykHk 50 gSA ;fn =k.kkRed 

iquZHkj.k ls ykHk ?kVdj 10 gks x;k gks rks fuxZr oksYVst 

dk og va'k Kkr dhft, tks fd iqujHkZfjr fd;k x;k  

gSA

4.	 Why do we need filters in power supply? Under 

what condition we shall prefer a capacitor 

filter? 

	 ges 'kfDr laHkj.k esa fiQYVj dh vko';drk D;ksa iM+rh 

gS\ fdu ifjfLFkfr;ksa esa ge la?kkfj=k fiQYVj dks ojh;rk 

nsxsa\

5.	 What are different types of inductors? Give its 

important applications.

	 izsjdRo ds fofHkUu izdkj D;k gS\ buds egRoiw.kZ 

vuqiz;ksx crkb,A
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6.	 Using the superposition theorem, determine 

the voltage drop and current across the Resistor  

R3 in the figure given below :

+

–– –

+ +

	 vè;kjksi.k ds izes; dk mi;ksx djrs gq, fuEu ifjiFk 

esa oksYVst fxjkoV rFkk izfrjks/ R3  esa /kjk dk eku Kkr 

dhft, %

+

–– –

+ +

7.	 Give the two Barkhausen conditions required for 

sinusoidal oscillations to be sustained.

	 LFkk;h nksyuksa ds LFkkf;Ro ds fy, ckj[kkSlsu dh nksuksa 

dlkSfV;kW D;k gSa\



7S-62/BSCPH-303

8.	 Define the following terms for a JFET :

	 (a)	 The pinch off voltage

	 (b)	 Drain resistance.

	 JFET  ds fy, fuEu dks ifjHkkf"kr dhft, %

	 (v)	 fiUp vkWiQ foHko

	 (c)	 Mªsu izfrjks/

******


